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QUESTION NO: 1 
 

Which utility is used to merge NDS trees?
 

A. DSVIEW

B. DSMERGE

C. DSREPAIR

D. NDS Manager

E. NetWare Administrator
 

Answer: B

 

 

QUESTION NO: 2 
 

Which of the following is included in designing an administrative strategy when creating a user

environment plan?
 

A. Review users application needs.

B. Design a strategy for mobile users.

C. Review users' legacy network services needs.

D. Gather information related to physical network resource needs.

E. Specify guidelines about how NDS objects will be used to create the user environment.
 

Answer: B

 

 

QUESTION NO: 3 
 

What is the recommended time implementation for a business that has three servers in a single

location?
 

A. One primary server and two secondary servers.

B. One reference server and two primary servers.

C. One reference server and two secondary servers.

D. One single reference server and two primary servers.

E. One single reference server and two secondary servers.
 

Answer: E

 

 

QUESTION NO: 4 
 

When NTP is loaded, which file is read?
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A. NTP.CFG

B. STARTUP.NFC

C. INITSYS.NFC

D. TIMESYNC.CFG

E. AUTOEXEC.NFC
 

Answer: A

 

 

QUESTION NO: 5 
 

Which NLMs does time synchronization use in a pure IP environment? (Choose two)
 

A. SAP.NLM

B. NTP.NLM

C. IPX.NLM

D. NCP.NLM

E. TIMESYNC.MLM
 

Answer: B,E

 

 

QUESTION NO: 6 
 

Which utilities allow you to change the time synchronization type for a server? (Choose two)
 

A. MONITOR.NLM

B. NDS Manager

C. DSREPAIR.NLM

D. NetWare Administrator

E. The SET parameters at the server console.
 

Answer: A,E

 

 

QUESTION NO: 7 
 

Which statement is true regarding a reference time server.
 

A. It does not advertise itself as a time provider.

B. It cannot coexist with other primary time servers.

C. It gets its time from a single reference time server.

D. It negotiates time with primary time servers, but does not adjust its internal clock.
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Answer: D

 

 

QUESTION NO: 8 
 

You have installed the first NetWare 5 server for Certpaper and accepted all default settings. What

type of

time server is this server?
 

A. Primary

B. Reference

C. Secondary

D. Single reference

E. Secondary reference
 

Answer: D

 

 

QUESTION NO: 9 
 

What needs to be done to allow servers to find any time server, regardless of the tree it's in?
 

A. Set Directory mode to off.

B. Set timesync restart flag to on.

C. Set Service Advertising Protocol to off.

D. Set the default time server type to reference.
 

Answer: A

 

 

QUESTION NO: 10 
 

You are the NDS expert for Certpaper . You are getting ready to merge the EMA_2 tree into the

EMA

tree. You are using Serv1 from the EMA_2 tree and Serv4 from the EMA tree to perform the

merge. The

following is the partition and replica listing for each tree

EMA_2[Root] EMA [Root]

Serv1 Master

Serv2 Read/write

Serv3 Read/write

Serv4 Read/write

Serv5 Read/write

Serv6 Read/write
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